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Economics II   Macroeconomics (EFA)
Friday, 14th July 2006    (60 min.)
Please note: 

· At first please check the exam paper: are there 6 pages / all pages well readable?

· Please only work in the exam paper; use the boxes for your answers. You do not need own paper. 

· Your calculations should be shown. The complete solution method must be traceable! 

· You can achieve 60 points – in 60 minutes! => one minute is approximately worth one point; please consider the indicated scores.  The tasks are formulated that way that usually short answers are required. Therefore do not spend too much time with "inferior" tasks!  
NEW!: To obtain a 100% marks you have to gather 60 points. There are four tasks worth 20 points each   you have to answer only 3 of the four tasks!
                                            Important: Only 3 tasks will be marked ! 
In case you worked at more than 3 tasks it is necessary that you clearly show which 3 tasks are to be counted (= check below). If you don’t indicate which tasks to mark, only the first three will be counted. 
· Permitted are:  pens, ruler, calculator (without word processing function), English language dictionary. 
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Please do not use a pencil (except in diagrams) nor red pens.
· Mobile phones have to be switched off!
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Task 1 IS/LM Equilibrium on Goods- and Money market
[20 points]
In an economy the following equations and variables are given: 

	Goods market:
	Money market

	C = 100 + 0,8 * Yd
	M = 200

	I = 100 / i
	LT = 0,2 * Y

	
	LS = 100 / i


1.1 Show the equilibrium conditions for both markets. Compute the values of Y and i that lead to an equilibrium on both markets. 
[8 points]
	Equlibrium on the goods market

Y = C + I = Caut + C‘ * Y + I
   = 100 + 0,8 Y + 100 / i
0,2 Y = 100 + 100 / i 
  Y = 500 + 500 / i 
	Equlibrium on the money market

 M   = TT + LS
200 = 0,2 Y + 100 / i
0,2 Y = 200 - 100 / i
Y = 1000 - 500 / i 

	Simultaneous equilibrium: 

500 + 500 / i = 1000 - 500 / i
(  1000 /  i = 500
(  i* = 2     equilibrium interest rate
	Apply to one of the Y equations: 
Y * = 500 + 500 / 2
(  Y * = 750


1.2 The government spends G = 100, financed by direct taxes of the same amount Tdir = 100. Compute the new equilibrium values of Y and i. 
[8 points]
(hint: please compute the result and do not guess, it’s not about Haavelmo)

	Gütermarkt-Gleichgewicht

Y = C + I + AST = Caut + C‘ * (Y-T) + I + AST
   = 20 + 0,8 Y  - 0,8 T + 80 / i + 100
0,2 Y = 40 + 80 / i 
  Y = 200 + 400 / i
	Geldmarkt-Gleichgewicht

wie oben !
 
Y = 400 - 400 / i 

	simultanes Gleichgewicht: 

200 + 400 / i = 400 - 400 / i
(  200 i = 800
(  i* = 4    Gleichgewichtszinssatz
	einsetzen in eine der Y-Gleichungen: 
Y * = 200 + 400 / 4
(  Y * = 300


1.3 In the first equilibrium (1.1) what are the amounts of Savings S, Investment I und LT?
[4 points]

S = - Caut + (1-C‘) * Y
I = 80 / i = 80 / 2,66
LT = 0,25 Y = 0,25 * 253,85
   = -20 + 0,2 * 253,85
I = 30,8
LT = 63,46
S = 30,77

Task 2 You live in Champistan, an economy with the following consumption function: 
                                         C = 100 + 0.8 Y 
 (20 points)
The economy has no government expenditures and does not have any foreign trade at present but there are investments, which are constant at 500.

2.1 Explain the concept of this consumption function (in your own words). Who invented this model (names of author and model)? Can it be verified empirically?. 
 (5 P)
2.2 Complete the following table:    
(4 P)
	Income 
	0
	100
	200
	300
	400
	500
	600
	700
	800
	900
	1000

	Consumption
	
	
	
	
	
	
	
	
	
	
	

	AD
	
	
	
	
	
	
	
	
	
	
	


2.3 Plot the consumption function, investment and aggregate demand on the 45° diagram below. Clearly identify the equilibrium level of income. [Don’t forget to properly label the axes]
 (3 P)
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


2.4 Calculate the equilibrium level of income. 
 (4 P)
2.5 We are able to increase the investment by I = 100
 (4 P)
Plot and calculate the new equilibrium. You will find, that Y is significantly larger than I. Explain this effect – what is its economic name? 

Task 3 National Accounting 
(20 Points)
3.1 Fill the empty boxes in the following circular flow model. Explain the concepts and the basic result of the model. Why are there two circles?  
(3 P)

[image: image2]
3.2 What is the difference between the „product approach“ and the „earnings approach“? (Your don’t have to reproduce a definition but (briefly) explain the concepts).  
 (3 P)
3.3 What is the difference between GDP, GNI and NNI. Explain the concepts. Approximately what is the current GDP in Germany?   
 (4 P)
3.4 Describe and graph the different patterns of the business cycle. In which phase is the German economy now?   [Don’t forget to properly label the axes]
 (6 P)
3.5 Describe the two (types of) possible economic policies we discussed in class. Give one real example of political measures for each. 
 (4 P)

Task 4 Macroeconomic Concepts
[20 points]
4.1 Define M1, M2 and M3 (no literal definition but your description). What is in M2 and not in M1- why are they defined like this? Relate each of the components of M2 to the factors behind the demand for money. 
[5 pt]


M1 is currency and demand deposits; M2 adds savings accounts, small time deposits, and money market funds to M1.

M1 is labeled “transactions money” and reflects a good deal of transactions demand. The opportunity cost of holding M1 is the interest rate (or the difference between low rates paid on NOW accounts and higher rates that can be earned elsewhere). The things that are added in the computation of M2 pay some return, but not as much as elsewhere, either. They therefore reflect, imprecisely, the image of assets demand.
4.2 List and describe the four wheels of economic growth
[4 pt]
4.3 Critics of growth point to factors that will limit genuine growth in standards of living in the next century. Consider the following possible scenario (which may or may not be realistic): Global warming leady to warming and drying of the world’s grain belt, lowering yields of important crops. Discuss the impact on the growth of per capita consumption. 
[6 pt]
4.4 Describe the concept of sustainability
[5 pt]













Good Luck !
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